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1. /KRR AR
H—HKEiKEQ= 5 cms
7K A AE 11 = 1500 mm
V= 2.829 mis FES FER
(7544 7K > Bt /K U > —f%E~ 5 2 491F 1.5~3.0m/sfEH (E))
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HEERE
2. 4K AR TR
FH7K I ER E 1582 = /K thuC-fE KA +ih & N IETE R 2
HKE D= 2 m
FEHhZKfir= -0.2 m
THEE g T E e = 0.15 m
/K HEE E e = 2.35 m

3. 7K i 4R PRI AR R /K TE
He=AXL/DxV?/2g
(BRDarcy AU fEE, AN R EAK ~ HEKEEHR/KEPKSEE RN 2 5E)

BEfEAE 4 (5 A= 0.02+0.0005/D = 0.0203
WKEEED= 15 m
V= 2.829 cms
ERREL= 12 m
R 3R e R IR I /K = 0.007 m
BB RREEIRSOKEH=  0.073 m




4. 5 BRRKHE

(1A RI/KEHF
F= 0.15 (#2)
=2 I A\ THEEGEER
NP BEBE i P
EHEEBA 0.5 sebs 2t
0.25 mEEA - AEA
B2 IR A 0.1~0.2 HAHEA
0.01~0.05 H Bl
(2)Eh a2 IR /KBRREL |
(a)eHi Fsc= 0 (EF3(a)l 2 0)
#3(a) EAEIRA BRI
D2/D1 Fse D2/D1 Fse
0.01 0.5 0.1 0.5
0.2 0.49 0.3 0.49
04 0.46 0.5 0.43
0.6 0.38 0.7 0.29
0.8 0.18 0.9 0.07
1 0
(b)Ed Foe= 0 (EZR3(b)I Z 1)
7#<3(b) THERAAEER
D2/D1 Fse D2/D1 Fse
0.1 0.98 0.2 0.92
0.3 0.82 04 0.7
0.5 0.56 0.6 0.41
0.7 0.26 0.8 0.13
0.9 0.04 1 0
(VTR KBA R EL e (EZ£4)

(a)ihE
0.5<R/D<2 Foe=[0.131+1.847x(D/2R)>*]%(8/90)°°
2=R/D 1/F pe=(90T1/8)x[In(R/D)+(6xT1/180)]
iR ER= 1.5 m
ERD= 1.5 m
R AAEEER /D= 1.000
R o= 90 deg
HH TR R K IR A Fpe= 0.29
(b)Hh#rE
4 a5 %EE ()
8 [ElJZE (Fpe) = J7IPE (Fpe)
15° 0.0167 1.4
30° 0.0728 0.616
45° 0.183 0.335
60° 0.365 0.182
90° 0.99 0.0377




=61 A Jer B [ B Ent A Fre
22.5° 45° 0.284
30° 60° 0.268
20° 60° 0.236
45° 90° 0.377
22.5° 90° 0.25
30° 90° 0.299
B RFH04= Foe1= 0.29
B R 0, Foeo= 0
B R FE0,= Foea= 0
E IR F0,4= Foes= 0
B S 05= Foes= 0
2Fp.= 0.29
(4)H CHERAREF,
F,= 1
(5)EHIELF, (&EF5)
75 MEIB R EER
o F, — F.
B iy i 05 i 1 [ (e Eh 7 08~12
1= 1 (22 5)
RS 15 20 50
F, 15 7.5 5
il 7K (22 F)
11 (mm) Fy 11 (mm) Fy
15 1 25 0.25
50 0.19 100 0.16
150 0.15 200 0.1
250 0.05 300LL F N
IR (2B )
11 (mm) Fy 11 (mm) Fy
100~250 3.2~2.5 300~450 2.0~1.5
500~600 1.2~0.7 700~900 0.5~0.3
100024 | 0.2
ARITIER
a. Bl 1 =, Fu1® 0.5
b2 11 [ (R EH ) 0 =, Fo* 0
C.AF 1 0 =, Fua 0
d. 7K (25) 0 =, Fua 0
e fiE [ (= 5) 1 =, Fus® 0.2
2F,= 0.7




R /KTE Hu=2fxV7/2g

Zfz(Fi+Fsc+ Fge+Fbe+Fo+Fv) = 243
V= 2.829 m/s
EFRAHL= 0.99 m
5.5l 7KIRERETE

KA A= (Rl /KA A+l /K E (BB R IO KB E (R R /KB
BEHE= 3.95

6. /KIS 17
(1)7K&Eh S
P,=0.163xQxH (kw) =0.222xQxH (HP)
/K&K ZQ= 300 cmm
/K sE T 1EH= 3.95 m
KE)TIPy= 197.5 kw
264.9 HP
(2)fh 7K b &)
Ps=P./n
KE)TIPy= 197.5 kw
264.9 HP
KRR N= 80 %

(I8 A T o 2R KB S8R ()4 AE 75 %~80%)
fil /K i ED S Ps= 246.9 kw
331.1 HP

)EZEMFT T
P.=P(1+a)/nt
K i En S P= 246.9 kw
331.1 HP
Rt xa= 0.15

(BEEL Fo BB FE0.97 R (H B3R 57 F0.99)
EEREH IPL= 295.6 kw
396.5 HP
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137K RS
KK EQ= 5 cms
7K R K = 1500 mm

V= 2.829 m/s FR A TR
(Pl K i 2 SRR DR R > — Rt BAYTE1.5~3.0m/s[Efi ()

12,0 8.3 12.5 4.3 8.6 4.4 11

BIA oo e F| |

L AERRRIED. 0.

2 kA
KR T A =L K o LK G+ HU T BT 1
HKEE R = 2 m
gk 02 m
EEHE TE= 015 m
HUKHEEEREE= 235 m
37K M R R BR R KR

H=AXL/DxV?/2g
(BkDarcy /A UEEL AR R EAK - HEKRE T RKHKEE R EE 2 5E)

PSR (5 8A= 0.02+0.0005/D - 0.0203
WKEERD= 15 m
Fi V= 2.829 cms
EEHEEL= 12 m
JBR Ty R ek AR O /K B= 0.007 m
EUENREEEAKTR= 0073 m
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(1A RI/KEHF
F= 0.15 (#2)
=2 e A THEEGEER
NP BEBE i P
EHEEBA 0.5 sebs 2t
0.25 mEEA - AEA
B2 IR A 0.1~0.2 HAHEA
0.01~0.05 H Bl
(2)Eh a2 IR /KBRREL |
(a)eHi Fsc= 0 (EF3(a)l 2 0)
#3(a) BAEIRA BRI
D2/D1 Fse D2/D1 Fse
0.01 0.5 0.1 0.5
0.2 0.49 0.3 0.49
04 0.46 0.5 0.43
0.6 0.38 0.7 0.29
0.8 0.18 0.9 0.07
1 0
(b)Ed Foe= 0 (EZR3(b)I Z 1)
7#<3(b) TlERAAEER
D2/D1 Fse D2/D1 Fse
0.1 0.98 0.2 0.92
0.3 0.82 04 0.7
0.5 0.56 0.6 0.41
0.7 0.26 0.8 0.13
0.9 0.04 1 0
(VTR KBA R EL e (EZ£4)

(a)ihE
0.5<R/D<2 Foe=[0.131+1.847x(D/2R)>*]%(8/90)°°
2=R/D 1/F pe=(9011/8)x[In(R/D)+(6xT1/180)]
2R R= 1.5 m
ERD= 1.5 m
iR AAEEER /D= 1.000
R o= 90 deg
HH TR R K IR A F pe= 0.29
(b)Hh#rE
4 thirEk %)
8 [ElJZE (Fpe) = J7IPE (Fpe)
15° 0.0167 1.4
30° 0.0728 0.616
45° 0.183 0.335
60° 0.365 0.182
90° 0.99 0.0377




=61 A Jer B [ B Ent A Fre
22.5° 45° 0.284
30° 60° 0.268
20° 60° 0.236
45° 90° 0.377
22.5° 90° 0.25
30° 90° 0.299
B RFH04= Foe1= 0.29
B R 0, Foeo= 0
B R FE0,= Foea= 0
E IR F0,4= Foes= 0
B S 05= Foes= 0
2Fp.= 0.29
(4)H CHERAREF,
F,= 1
(5)EHIELF, (&EF5)
75 MEIB R EER
o F, — F.
B iy i 05 i 1 [ (e Eh 7 08~12
1= 1 (22 5)
RS 15 20 50
F, 15 7.5 5
il 7K (225
11 (mm) Fy 11 (mm) Fy
15 1 25 0.25
50 0.19 100 0.16
150 0.15 200 0.1
250 0.05 300LL F N
IR (2B )
11 (mm) Fy 11 (mm) Fy
100~250 3.2~2.5 300~450 2.0~1.5
500~600 1.2~0.7 700~900 0.5~0.3
100024 | 0.2
ARITIER
a. Bl 1 =, Fu1® 0.5
b2 11 [ (R EH ) 0 =, Fo* 0
C.AF 1 0 =, Fua 0
d. 7K (25) 0 =, Fua 0
e fiE [ (= 5) 1 =, Fus® 0.2
2F,= 0.7




R /KTE Hu=2fxV7/2g

2f = (Fi+ Fgt Fge+ Foet Fo+F,) = 2.43
TR V= 2.829 m/s
EffFRAHN= 0.99 m
5. HI7KIRER SR

KA A= (Rl /KA A+l /K E (BB R IO KB E (R R /KB
BEHE= 3.41

6. 7/KI 17
(1)7K&Eh )]
P,=0.163xQxH (kw) =0.222xQxH (HP)
/KR K ZQ= 300 cmm
/KT 1EH= 3.41 m
KE)TIPy= 170.6 kw
228.8 HP
(2)fh 7K b &)
Ps=P./n
IKE)TIPy= 170.6 kw
228.8 HP
KRR N= 80 %

(I8 A T o e KSR ()4 AE 75 %~80%)
fil /K i ED S Ps= 213.3 kw
286.0 HP

)EZEMFT T
P.=P(1+a)/nt
K i En S P= 213.3 kw
286.0 HP
fRfHa= 0.15

(B ER e R 1ERE0.97 R (BR3¢ 1 0.99)
BEMTR ) IPY= 255.4 kw
342.6 HP
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1K A%
H—HK K EQ= 4 cms
/KA AE 17 = 1500 mm
V= 2.264 m/s FR A EER
(Bt KM > st R K CUR 2R » —A%35°5 84975 1.5~3.0m/s i fE))
| I S R e R R T

Egign

e
-

BAAR  gheimm

Bfixt sB=omn Bl

@k oo [DERmE

- xsam- ——

PR MG
VKRS SMEE=RE K A-EHrK A +HtE T THE S
B AR KAI= 2.52 m
KL= -1.55 m
TR e tE= 0.15 m
KRR AF R = 4.22 m
3. /KR SR EE R IR SR /KB

H=AxL/DxV?/2g
(BRDarcy AU L B A ERK ~ HEK Rl iR /K B K S E B0~ 5 6)

REiEE A (A= 0.02+0.0005/D = 0.0203
KB B ED= 15 m
SpkV= 2.264 cms
B REL= 12 "
BHRREEIESAKE= 00044 m
EOEEEESOKEH= 00464  m



4B BRRKHE

(1) A CHEJ/KTEF
F= 0.15 (#2)
22 Ty A CHEA G
iy N TS BR A A FH A
e LN 0.5 Egte 2 e
0.25 mEEA - HEA
§2 IO A 0.1~0.2 A Bl
0.01~0.05 B aHEA
() LB R /K TR A
(a)Z4E Foo= 0 (EZ3(a)il 210)
7#23(a) TARBAGEEE
D2/D1 Fse D2/D1 Fse
0.01 0.5 0.1 0.5
0.2 0.49 0.3 0.49
0.4 0.46 0.5 0.43
0.6 0.38 0.7 0.29
0.8 0.18 0.9 0.07
1 0
(b)Exi Foe= 0 (FF23(b)ill 2 )
#3(b) ZHEAGEEE
D2/D1 Fse D2/D1 Fse
0.1 0.98 0.2 0.92
0.3 0.82 0.4 0.7
0.5 0.56 0.6 0.41
0.7 0.26 0.8 0.13
0.9 0.04 1 0
()i B L KB B F e (EF=4)
(a)ifi &
0.5<R/D<2 Foe=[0.131+1.847x(D/2R)>*]%(8/90)°°
2=R/D 1/F 4e=(90T1/6)x[In(R/D)+(6x11/180)]
Hi % {ER= 1.5 m
e D= 1.5 m
iR EAEEER /D= 1.000
R o= 90 deg
HEEI= PR CEIEN e 0.29
(b)fi T
=4 dhiriadka#Ek(a)
0 B E (Foe) I8 (Foe)
15° 0.0167 1.4
30° 0.0728 0.616
45° 0.183 0.335
60° 0.365 0.182
90° 0.99 0.0377
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=61 A Jer B [ B Ent A Fre
22.5° 45° 0.284
30° 60° 0.268
20° 60° 0.236
45° 90° 0.377
22.5° 90° 0.25
30° 90° 0.299
B RFH04= Foe1= 0.29
B R 0, Foeo= 0
B R FE0,= Foea= 0
E IR F0,4= Foes= 0
B S 05= Foes= 0
2Fp.= 0.29
(4)H CHERAREF,
F,= 1
(5)EHIELF, (&EF5)
75 MBI EER
o F, o F.
B i i 05 i 1 [ (e Eh 7 08~12
1= 1 (22 5)
RS 15 20 50
F, 15 7.5 5
il 7K (22 F)
11 (mm) Fy 11 (mm) Fy
15 1 25 0.25
50 0.19 100 0.16
150 0.15 200 0.1
250 0.05 300LL F N
IR (2B )
11 (mm) Fy 11 (mm) Fy
100~250 3.2~2.5 300~450 2.0~1.5
500~600 1.2~0.7 700~900 0.5~0.3
100024 | 0.2
ARITIER
a. Bl 1 =, Fu1® 0.5
b2 11 [ (R EH ) 0 =, Fo* 0
C.AF 1 0 =, Fua 0
d. 7K (25) 0 =, Fua 0
e fiE [ (= 5) 1 =, Fus® 0.2
2F,= 0.7
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R /KTE Hu=2fxV7/2g

2f = (Fi+ Fgt Fge+ Foet Fo+F,) = 2.43
JiRV= 2.264 m/s
EFERH= 0.64 m
5. /KIS 4R 12

7K B AR =Tl K IREHEE +il AR E (R R IR S KR E (R /KB
iK%= 4.91

6.5h/KIB R 1
(1)7K&1 73
P,=0.163xQxH (kw) =0.222xQxH (HP)
/KK EQ= 240 cmm
K ET 2 H= 4.91 m
JKE)TIPy= 196.3 kw
263.2 HP
(2)Fh /KM ddE) /7
PS=Pw/r]
JKE)TIPy= 196.3 kw
263.2 HP
KRR N= 75 %

(P ] T B i K AR (n) $UFE 75 %~80% )
KB I Ps= 261.7 kw
350.9 HP

Q)VEZEFTFELN
Pn,=P(1+a)/nt
/K ) ) P= 261.7 kw
350.9 HP
ERfaRa= 0

(BE B A e im B FE0.97 R B ER H0.99)

HEMTR ) IPy= 272.5 kw
365.4 HP
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JiEEV= 3.282 m/s
(B 47K M 2 Ba TR oK 2R > — g% E4Y/E1.5~3.0m/s[Efi(E))

12.0 85 12.5 4.5 865 4.4 11
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K (R S BEE 2 = MK E B/ O-R KRS /K AL+ E N A TEE 52
KIS D O= 2 m
MN7K 7K fiz= 1.6 m
THEE g T faiE= 0.15 m
KRB E A 1E= 0.55 m
3. Hh/K I SR EEIE1R S /K TR

He=AXL/DxV?/2g
(BRDarcy AU fEE, AN EEAK ~ HEKEEHR/KEPKSEE RN 2 5 E)

PSR (5 8A= 0.02+0.0005/D - 0.0203
WAEERD= 15 m
Fi V= 3.282 cms
EREEL 12 m
BRI IRSKEE= 0.009  m
BRSO KEHS 0098 m
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NP BEBE i P
EHEEBA 0.5 sebs 2t
0.25 mEEA - AEA
B2 IR A 0.1~0.2 HAHEA
0.01~0.05 H Bl
(2)Eh a2 IR /KBRREL |
(a)eHi Fsc= 0 (EF3(a)l 2 0)
#3(a) EAEIRA BRI
D2/D1 Fse D2/D1 Fse
0.01 0.5 0.1 0.5
0.2 0.49 0.3 0.49
04 0.46 0.5 0.43
0.6 0.38 0.7 0.29
0.8 0.18 0.9 0.07
1 0
(b)Ed Foe= 0 (EZR3(b)I Z 1)
7#<3(b) THERAAEER
D2/D1 Fse D2/D1 Fse
0.1 0.98 0.2 0.92
0.3 0.82 04 0.7
0.5 0.56 0.6 0.41
0.7 0.26 0.8 0.13
0.9 0.04 1 0
(VTR KBA R EL e (EZ£4)

(a)ihE
0.5<R/D<2 Foe=[0.131+1.847x(D/2R)>*]%(8/90)°°
2=R/D 1/F pe=(9011/8)x[In(R/D)+(6xT1/180)]
2R R= 1.5 m
ERD= 1.5 m
iR AAEEER /D= 1.000
R o= 90 deg
HH TR R K IR A F pe= 0.29
(b)Hh#rE
4 a5 %EE ()
8 [ElJZE (Fpe) = J7IPE (Fpe)
15° 0.0167 1.4
30° 0.0728 0.616
45° 0.183 0.335
60° 0.365 0.182
90° 0.99 0.0377
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B R 0, Foeo= 0
B R 05 Foea= 0
E IR F0,4= Foes= 0
B R A 0s= Foes= 0
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(4)H CHERAREF,
F,= 1
(5)EHIELF, (&EF5)
75 MEIB R EER
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& i ] 05 0 1 fE (AR EN 7Y 08~12
1= 1 (22 5)
RS 15 20 50
F, 15 7.5 5
il 7K (22 F)
11 (mm) Fy 11 (mm) F\
15 1 25 0.25
50 0.19 100 0.16
150 0.15 200 0.1
250 0.05 300LL F N
IR (2B )
11 (mm) Fy 11 (mm) F\
100~250 3.2~2.5 300~450 2.0~1.5
500~600 1.2~0.7 700~900 0.5~0.3
100024 | 0.2
ARITIER
a. Bl 1 =, Fu1® 0.5
b2 11 [ (R EH ) 0 =, Fo* 0
C.AF 1 0 =, Fua 0
d. 7K (25) 0 =, Fua 0
e fiE [ (= 5) 0 =, Fus® 0.2
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R /KTE Hu=2fxV7/2g

2f = (Fi+ Fgt Fge+ Foet Fo+F,) = 2.43
TRERV= 3.282 m/s
EFERH= 1.34 m
5. /KIS 4R 12

KA A = (M KRR + Rl /KIS E (T BRI IO K B +E MR KEH)
BESE= 2.00

6. 7/KI 17
(1)7K&Eh )]
P,=0.163xQxH (kw) =0.222xQxH (HP)
/KR K ZQ= 348 cmm
/KT 1EH= 2.00 m
KE)TIPy= 116.0 kw
155.6 HP
(2)fh 7K b &)
Ps=P./n
IKE)TIPy= 116.0 kw
155.6 HP
KRR N= 70 %

(I8 A T o 2R KB S8R ()4 AE 75 %~80%)
fil /K i ED S Ps= 165.7 kw
222.2 HP

(Q)VEEFTFELN
P..=P(1+a)/nt
/KB P= 165.7 kw
2222 HP
grfARa= 0

(BEEL Fo BB FE0.97 R (H B3R 57 F0.99)
BERFREHIPL= 172.6 kw
231.4 HP
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slEHKE : 2.0 cms SELACE - 2.0cmsx24H
1. KRR
H—Hh KK EQ= 2.000 cms
FHZK AR 118 = 1000 mm
(EFE1 > SIHEHABMKERBENZERES " Lith BEELETE
TREV= 2.55 m/s — REEGFEX

(FrAtsh A st K CORER » — A5 B EUFE1.5~3.0m/sHEE)

2. fKIEHEE
FEtE= s Y VKA E KA
s oK Ar= 3.60 m
{4k A= -1.5 m

/KIS TE= 5.10 m
3. 7K R R IR S /KT
He=AXL/DxV?/2g
(b¥Darcy A= E - MK « HoK R AP K S SR 5 5)

FEHE L (48A= 0.02+0.0005/D = 0.02050
K EEED= 1.00 m
TREV= 2.55 cms
EEEL= 10.00 m
R R EE SR A 7K T = 0.00 m
B AR EEEE S KTEH= 0.07 m
4. 54185 KHE
(1) A 48K 7KHFi
Fi= 0.15 (#2)
2. IR A CIIB L REIER
o NE 2 8 BEAE 7 [E]
R UON 0.5 S 55
0.25 EEA - HEA
s MU PN 0.1~0.2 EAEA
0.01~0.05 B ES

(2)ETH & LR R /KERAE -

(a)=b Feo= 0.00 (£723(a)i 2110)
FR3(a). 2B FREE
D2/D1 Fse D2/D1 Fse
0.01 0.5 0.1 0.5
0.2 0.49 0.3 0.49
0.4 0.46 0.5 0.43
0.6 0.38 0.7 0.29
0.8 0.18 0.9 0.07
1 0




(b)=tE Fge= 0.00 (& 23(b)3 Zm)
7<3(b). 2B LR BIFE
I:)2/D1 Fse D2/D1 Fse
0.1 0.98 0.2 0.92
0.3 0.82 0.4 0.7
0.5 0.56 0.6 0.41
0.7 0.26 0.8 0.13
0.9 0.04 1 0
(3) B #THE L /KEEARE Fpe (#F:4)
(a)ih&
0.5<R/D<2 Foe=[0.131+1.847x(D/2R)>°]x(6/90)"°
2>R/D 1/F,e=(9011/0)x[In(R/D)+(6xT1/180)]
R fER= 1.00 m
D= 1.00 m
1K EER/D= 1.00
E=CE 90 deg
HHPT RS /K E AR I Fpe= 0.29
(b)ih#rE
F=4(a). BT L R BIER
) Ef7E (Fpe) £ (Foe)
15° 0.0167 1.4
30° 0.0728 0.616
45° 0.183 0.335
60° 0.365 0.182
90° 0.99 0.0377
(C)ZHEIREE
F=4(b).HITIE LR EER
S EE e B [ GETE e Foe
22.5° 45° 0.284
30° 60° 0.268
20° 60° 0.236
45° 90° 0.377
22.5° 90° 0.25
30° 90° 0.299
EHImE0= 90 Foe1= 0.29
B R A0= 0 Foeo= 0.000
%E%ﬂ%@93= Q Fbesz 0.000
BRI~ 0 Foesa= 0.000
%E%{EH@95= Q Fbesz 0.000
SFpe= 0.29




(4)HH CHRAAELF,

Fo= 1
(5) s LF, (##5)
K5 . FREIE L RER
a1 5 FV S = (+EE I Fv
B Vi o [T 55-099 7 (- [ (FEEN ) 0812
1= 1 (42 58)
LI 15 20 50
Fy 15 7.5 5
il K 6 (22 5)
LIf€(mm) Fv [11€(mm) F,
15 1 25 0.25
50 0.19 100 0.16
150 0.15 200 0.11
250 0.05 3000 - it
IR (2 5H)
7€ (mm) Fy [17& (mm) Fy
100~250 3.2~2.5 300~450 2.0~1.5
500~600 1.2~0.7 700~900 0.5~0.3
100021 F :
AR ITFEEK
a. Bl 1 =, Fui= 0.500
b. 2 1 (FREEN ) 0 =, Fuo= 0.000
CAF I 0 =, Fus® 0.000
d. 7K (2=5) 0 =, Fua= 0.000
e fEfE (2= FH) 0 =, Fus 0.000
2F,= 0.5
X4 /KTE H,=ZfxV?/2g
Zfz(Fi"'Fsc"'Fge"'Fbe"'Fo+Fv)= 1.94
TRIRV= 2.55 m/s
BFERH= 0.64 m
5.7k G R
AR =R IR + (/KM R EE IR IR /K BE+E B /KR )+ 2 T P TH A R
THRE g T e EtE= 0.15 m
U= 5.96 m (=28
T HIE= 48551Ex0.80 (BHH KK B 22 T - SO RR)
= 4.77 m
AL /1.30 (K T KB HER » BT BEE)
= 4.58 m



6. :H/KI%E 0

(1)7K&h/7(Water horse power, WHP=;Pw)

Pw= WHP=0.163xQxHxy (KW) =0.222xQxHxy (HP)

/K i&HKE,Q=
FRESIE H=
PRZKER AL EE, Y=
TKE)HIPw=

120 cmm
4.58 m
1.02 t/m>

92 KW
123 HP

(2)3h/K t&eEh 5] 7 (Shaft horse power, SHPE(Ps)

Ps=Pw/n
KEh1Pw=
/K EE8ERN=
/Kt S Ps=

(B 8 Bl KSR (N)EIAE T 5% ~80%)

92 KW
123 HP
80 %

115 KW
154 HP

(3)#Eh 5 J1(Required horse power,RHP)

Ps=Psx(1+a)/B
) SR EB=
BEES R R
B ) ) Ps=

) T IPs=
SR

(Q)FH B ERFTFRENTI(P)
BEIH3 §

BEE

P.F

AT

TR BRI =

93 %
15 %
123 KW
165 HP
142 KW
190 HP
200 HP
440 Y
150.0 KW
93 %

0.8
202 KVA
264.56 A

Bk PSR AT - Y- ABGEIER3 . 513

HEMABEKW) = v 3xE B/ MEB) R xRk EE i/1000x0.8

| BB
K
2
S5 [ T P=
HeH S A

1. 52X
K=
IKENTIPy=

2 =
1 =
645 KW
700 KW
875 KVA
939 HP
5.96 m
95.3 kw
127.8 HP

(ZERTEE)
(BERIER)

(BLEh25Hih7KH%)



/KRN = 75 %
(B A e R B /KA 5855 () 491E 75%~80%)
7Kl E) TIPs= 127.1 kw

170.5 HP
FEEPRFR S IPy= 137 kw
183 HP
8.A g R
V=(bexPxt)/(1000xpp)*xax S5 [ 2 e N
AR EFER D= 0.17 (kg/HP - Hr) ()
5 |2 HaE) 1P= 939 HP
IR T= 48 Hr  (— s 0 > )
ERRE o= 1.20
G RIEEANEIEE 1165 SN%E  ARAREEhE1.2(%)
SR G E py= 0.85 kg/L
BelS [ iR En= 1 4H
A HfE B fE V= 10.76 m?®
IR T EER 11.00 m?®
gt =A% 12.91 m?®
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%341 1R/REFHE
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- vigaeg 28,915,464 29,780,014
(- )3k e
140kgf/cn2 i # R 1 2 % % V3 40 2,000.0 2,200.0 8,000.0 8,800.0
210Kkgf /cn27f 4£32 582 % % w3 | 1290 2,200.0 255000| 283,8000|  322,500.0
w82 § % £ (D=1200m > B = s F) 784.0 8,000.0 8,000.0| 6272,0000| 6,272,000.0
SD2804K 5 4c 1 % o = 12.0 19,800.0 19,8000  237,6000]  237,600.0
SDA20%K 5 4o £ 1w = 240 21,000.0 21,0000]  504,0000]  504,000.0
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()i kgsafe
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e W3 | 402.0 400 400| 16,0800 16,080.0
CLSW v 5 W3 | 35270 1,400.0 14000 4,937,800.0] 4,937,800.0
BN ER ) * 1.0 433,732 446,700 433,732 446,700 1"50/’0 . 9} [
DORBREKGFE 1T 2 B 10 293,000 302,000 293,000 302,000/ OZA:_P,;f [
e SEFEHEEY ® 1.0 293,000 302,000 293,000 302,000 1"’_01/0?;5 P
T EBEMB B FEY(E AP 0.5%) 5 10| 1617185  1674,048] 1617,185] 1,674,048 ;/;;“; B
ST = 10[  1577619]  1625238] 1,577,619  1625238|- ~= & ;2 5%
Heairg 33,130,000 _ 34,130,000
YY) = 10 513,218 524,278 513,218 524,278
FoytimziaAviet = 10 87,936 90,590 87,936 90,590
B w12 HEEk = 10 30,000 30,000 30,000 30,000
YTy = 10 30,000 30,000 30,000 30,000
B R E @ ma Y = 10| 2648846 | 2725131 |  2,648,846]  2,725131
w1y 36,440,000 37,530,000

f"; ] @ [ AE]

P AR AR RS

WG




Cis g kb5l KidR1 AR | 1 BPEE TR

ST g  1itEe

HEh o BRIk RIEF S 1T RN 2978 o MBI L
180 p /g = » H AR PRIRIF TR 40 F 4-1-10

%411 {S4ER-LFIRIFTER £

/8
TEEEBEE 108/3 108/4 108/5 108/6 108/7 108/8 ~ 109/3
T{FIEE 10/20]/30{10{20|30[10(20({30({10{20{30(10({20{30]10]/20|30| ~|~|~|10(20(30
BEIREREREER M HRES 107458
eRERE
R BE —swal
MDSRERstRsER  |[MBEBEREMEIE 550
M EEEY 0D
IBIHBAE « i 30D | (BI5ER
|
it TS5 ER 180D
[ et e Bt G




	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面
	空白頁面



